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frequently asked... v f@ “3- 95 TRy
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def all_pairs(lst: list) -> None: {704
o 1 =0 -
while i < len(lst): —— n = »@e:« (QS_(B 7

j=20

while j < i: S
lshf print(i + j) l gjrcp L tomes

j=3+1 |
1 =1+ 1

RTall_paz'rs(n) — Z@“’ 1) = Z i = e 5 +7(L - @(nz)
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compare...

def is_prime(n):
if n < 2: Q\/e.(QjQ < fs

return False

else: o S r2F€ |4
for d in range(2,n): /S ‘-1-7/( e SQW/_ZE
ifn?i%d==0: ___//
return False

return True L

o even (LT x (@ PR = Len (reanbec_ List ) >

% fp0©

def has_even(number_list): )/\QS_—C\/QV\(]:Q ’

for number in number_lisgﬂ (nt‘{1-¥ IOCEQ
has_ ey on

) gk if number % 2 == 0:
ew return True

return False
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» Z;, ={¢]|tis an input to f A |z| = n}
L
slzée

» RTy,) = number of basic “steps” in executing f(z)

» WCi(n) = max{RTf) | T € Zfn}
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upper bounds, lower bounds...

L? ON Worst Case

—
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» U(n) is an upper bound means
Vn € N,Vz) e If’n, RTf(x) < U('n,) {ome C/J\f\e.—(e

?

» L(n) is allower bound means
Vn € N@e Tf s RT5(a) > L(n)

Ule)
why the asymmetry of .U and L7
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